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1. Solve each quadratic equation below. Simplify all answers.
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2. For the quadratic function f(x) = 2(x — 1)? + 2 find:
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(iv) Sketch the function below. Label fhe vertex afd the intercepts.
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3. What are the coordinates of the vertex for the function g(x) = (x + 8)(x — 4)?
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4. Does the parabola for y = —2x2 + 4 open up or down? lee a reason for your answer,
12]
‘ LIS L 2
ﬁ&ans clarn QS — Unbunt Gj x
l,o\/q(;fm g D (‘-Q/%L% hie th X AOK S
5. Use the method of completing the square to solve the following quadratic. [3]
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6. Find the quadratic function that represents the graph below. [3]
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7. Simplify each.
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8. Find the equation of the image line when y = 2x — 1 is translated (D [3]
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9. Rotate the object below 90° clockwise about (-2,0). [3]



10. Describe the Transformation below. aﬂ,_ 3]
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11. Find the image of the object below when it is enlarged by a scale factor of 2 about the origin. [3]
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1. Use technology to solve, give your answers to two decimal plaé}’ lnre) sclut junt 3]
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2. John has £220 to share amongst his grandchildren. However, three of his grandchildren have
mishehaved recently, so they will not receive any money. As a result, the remaining
grandchildren receive an extra £16.50 each. How many grandchildren does John have? [4]
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3. Use the quadratic formula to solve the following quadratic equation. Give answer in simplest

form. (3]
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4. Use the quadratic formula to solve the following quadratic and simplify any complex numbers.
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